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Bootkég 18Létnteg: cos(—x) = cos x, sin(—x) = —sinx,

cos’x +sin*x =1, 14tg?x=1/cos®x,

n € N = cos(nt) = (—1)", sin((2n — 1)7/2) = (—1)"!

x |0 n/6 | w/4 | w/3 | 7/2
Baoikég Tyuéc: | sinx | 0| 1/2 [ vV2/2 | V3/2| 1

cosx | 1|+3/2~v2/2| 1/2 | 0

Boaoiwkég TavtoTnTeg:

cos(x + y) = cos x cos y — sinxsiny

sin(x + y) = sin x cos y + cos x sin y

. . 452
cos2x = cos?x —sin’x =1 —2sin’x =2cos?x — 1 = } tg’ X
+tg< x
. . . _ 2tgx
sin2x = 2cos xsinx = Trie?x
2 cos x cosy = cos(x — y) + cos(x + y)
2sinxsiny = cos(x — y) — cos(x + y)
2sinxcosy = sin(x 4+ y) + sin(x — y)
sinx +siny = 2sin X cos 3¥,  sinx —siny = 2 cos X3 sin X~

Xty

cosx + cos y = 2cos X2ﬂ cos 5%, cosy — cosx = 2sin 5% sin =X

Baolkég Suvapooelpéc - osipec Maclaurin
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n=0
o (1 —|—x)’:z (,:)XHZZ r(r—l)--r-’l(r—n+1)xn, xe(—1,1), reR.
n=0 n=0 .
o n(1+x)=>" $x x e (—1,1].
n=1

o sinxziozixz’”rl cosx:i _1)nx2”, x € R.
(2n +1)! ’ “— (2n)!
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sinhx = E ;xz’”r1 cosh x = E 1 X" xR
(2n + 1)! ’ (2n)!™ '

n=0 n=0




